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Evaluate the expressxon Be sure to rewnte any fractlonal exponents in radlcal form first. i
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o Evaluate the expressmn Be sure to rewr:te any expressmn that js'in- exponqnt form, in radical form R
' 'first ' . R
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| Simplify the expression. Write your answer using only positive exponents. You must show wdrk for :
this! ‘ .
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L Y :Si-mplify the éxpress‘ion Writé'ydui’ answei" ﬁsin‘g or'lly'positivé exponents.
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Find fh_e indicated real nth root(s) of a
n=4,a=8l i{*-*'
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The area of a rectangular yard wuth a width of 74 b feet is 9a° 4’ square feet. What i$ the Iength"
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A galaxy is 10° light-years away from Earth. Anothér galaxy is 107 times farther away from Earth than the

. first galaxy. How fdr away (in llght-years) is the second galaxy" Write your answer in scwntn" ¢ notation and

in standard form.-
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- ‘Determine whether the table represents a tmear or an exponentml functmn Explam and be sure to
- show proof of your conclusmn '
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- 20. Graph y= 4% Be sure to show an x and y table. Dcscnbe the domam and range -
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- Graph the function. Compare the functlon to the graph of the parent function. Descnbe the domam

_and range of f
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